Compute each of the following in 4 ways:
a. Use the equal additions/European algorithm

b. Use the negative numbers algorithm

c. Use the “exchange first” variation on the standard algorithm (do this as a left to right algorithm.  This will involve a slightly different order of exchanges in #2 than doing this as a right to left algorithm)
d. Use the “break the second number apart” strategy (textbook  p. 157) (3rd edition piecemeal subtraction strategy textbook pg 153)

1. 
[image: image1.wmf]8

3

2

6

-




2. 
[image: image2.wmf]7

9

4

3

2

6

-



3. 
[image: image3.wmf]4

7

2

2

0

5

-


_1306432842.unknown

_1306432843.unknown

_1306432728.unknown

